Maths Homework 8.11.24
LO: To use rounding to estimate the answers to addition and subtraction calculations.
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1) Use an estimation for each calculation, then calculate the actual answer.
a) 3454 + 2865

Estimated answer: Actual answer:
b) 6237 - 1566

Estimated answer: Actual answer:

2)

) Here is the estimation of an addition calculation:
2400 + 3200 = 5600
Write 2 different addition calculations it could be.

b) Here is the estimation of a subtraction calculation:
7600 - 2300 = 5300
Write 2 different subtraction calculations it could be.

3) Tyreec completed this calculation.
4517 + 3221 = 9738
Use estimation to show how you know that Tyreec is not correct.
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) The stimated price of 2 items, when roundsd to the nearest hundred pounds, iz £4900.
What are the 2 items? Show how you know.

b) Toby has £5000 to spend. He wants to buy a TV and a bike. Use rounding to a hundred.
t0 show if you think he has enaugh money.

) Round all the amounts tothe nearest thausand. What s the stimated total of al tems?.
I the estimated total greater or smaller than the actual total?

) Round all the amounts to the nearest hundred. What is the estimated total of ol items?
What i the difference between this and the actual total?

2
) The estimated answer to an addition calculation is 500. The first number i 226, Write
two diffrent calculations that it could have besn.

b) The estimated answer to a subtracton clculation is 400, The first number is 955, Write
two diffrent calculations that it could have been.
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To answer the following questions decide which multiple of 10 each number is closest to and then add or subtract
the numbers. Trying to answer quickly will help you to practise estimating rather than working the answer out.
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Estimating Subtraction:

1.58-32= 2.79-22 =

My estimate. - - My estimate. - -

5.129-27= 6.229.92=
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